
Install the positioning plate on the balance device (left and right).

Install the balance device onto 
the fixture (left and right).

Install the 
bracket onto the 
balance device.

Install the M8 
tightening handle
onto the bracket.

A

B

E

C

D

D

F
G

B

A

A

Zoom Lens/Focus Barrel 
Counter Balance 

Installation Instructions

Additional Parts
Included

1

3

4

52

Remove the original bracket from the fixture.

8 x Hex bolt M4x14

8 x Hex bolt M4x16

1 x Hex bolt M10x35

4 x + Bolt

1 x M10 tightening
handle

1 x M8 tightening
handle

1 x M8 bolt

B

D

E

F

G

C


